( ]
= =anT
& SH=, 31y
Z= Moy/FIZ o]0|X|
4y
; THE!:
7|2 x|: EN AC-51400.
I ' S WL
‘ =M 0p2a);
712 S| Ko M7 ASHR 2|
S 7] A M5 o2
HH:
0 3L ATEO} B E SYT I} AS50] AUE SIS 1N
stLict
ZIEHSl D BWES TX2 AUE oS THE & YaLc
Sz ™ F|CH 0.5mm
2o x2S 9|5 2T Z2t0/0{S Wx| Dok BHLICH
0|2 9JsH B 22 YT 2z E)o| T

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/4



Z Suz, 2tny
=m
D6
AF S| = LEAF
5
e i
DHT (2x)
3 d?I ——
=t <~
& T o

D3

© HEINRICH KIPP WERK GmbH & Co. KG

Z|CH
x+oq Z)0|

H1

www.kipp.com - info@kipp.com 2/4



1. BT Y sols|
W 22 £ Aol 72d] 2l Y oo 2 IS AAIR,
223 22 dMAt2lol nHs7| I ST LIAE TolAAlL.
(A SIS LINE A2 3T 32T U8 I8 o =&o| Euith)

LA FHE LIA

234¥ 3

My
S3E 22 2 7HE ool
77|20k BrL|Ct

= Bsl: 3. Boi2 15|
AUSHE ASFE FUL YoM HAAIL. SULLIAE B1 2% 5l= A3FE
s HUS0 228 X 0oz NS MR, UL A2 WAL,
SUSE 2 HOZ MSD LA B LIS
Zol&Ae.

2|3 ;A

K
Jo
0]
12

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  3/4



(
2= HaliT k S
= 2=, 28y
== g9
= Su=, 23y
FEHS A B B1 D D1 D2 D3 D4 D5 D6 H HT H2 L L1 S T %= ZE3F
N Nm
K1169.32040 42 50 32 5 45 74 7 M3x0,5 M4x0,7 M6 42 5 10 40 25 3,5 5 2500 7,5
K1169.32080 42 50 32 5 45 77 7 M3x0,5 M4x0,7 M8 42 5 10 80 45 3,5 5 2500 14
K1169.50050 62 72 50 6 55 11,4 11 M3x0,5 M5x0,8 M10 63 7 15 50 30 55 8 5500 26
K1169.50100 62 72 50 6 55 114 11 M3x0,5 M5x0,8 M12 63 7 15 100 58 5,5 8 5500 46

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

4/4



